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MA 175 GEOMETRY REVIEW

1. Find each marked angle
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2. Find x and all the missing angles of each triangle
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3. Find AB, if CD is a median 4. Find ZACB, if CD is an angle bisector
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5. Write the congruence statement for each of the following diagrams using the appropriate Theorem.
State the corresponding sides and/or angles that are equal. Find x and y.
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6. Find x and y and all marked sides or angles of the given parallelograms.

a)

b)




7. For each of the following state the relationship of given triangles. Find x and all marked sides.
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8. For each of the following find x and all marked sides.
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d) Find x, DC and the area of the figure. e) If AB =20, find x and the area of the figure.
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9. For each of the following find x and/or y and the area of the given figures.
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10. At a point 100 feet from a tall building the angle of elevation of the top of the building is 65°. Find
the height of the building to the nearest foot.

11. A 20 foot ladder is leaning against a wall. It makes an angle of 70° with the ground. How high is the
top of the ladder from the ground (nearest tenth of the foot).

12. For each of the following find the area and perimeter
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13. Find x if the area of AABC is 48 and AB is 3x-2. 14. Find x if the area of AABC is 39.
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15. Find the area and circumference of each circle.
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ANSWERS

a) x=10, ZADC =80°, ZCDB = 100°
b) x=80°%y=100°z=40°, ZAED = 100°, £ DEB = 80°
¢) x=33°ZACD=11° 4ZDCB = 79°
d) x=20°y=100°z=30°
e) x=30° ZBKF=75° £ DME = 105°
f) x=5,ZAKF =25° ZDME =25°
a) x=3,/B=60° £C=90°
b) x=100, ZA =30° £ZB=110° £ZC =40°
c) x=40, £ZDAB=150° £B =100° £C = 50°
d) x=48°y=48°2=42°
AB =64
ZACB = 108°
AD=DB given
i £ZADC = ZBDC both equal 90° } = AADC = ABDC (SAS = SAS)
CD =CD identity
X=2
BC =CD given
b) ZBCA = £ZDCE vertical angles are equal } = A4BC = AEDC (SAS = SAS)
AC =CE given
x=10, y=5
AB = DC opposite sides of a parallelogram are equal
) AD = BC opposite sides of a parallelogram are equal = AADB = ACBD (SSS = SSS)
c
DB = DB identity
Xx=3, y=4
£B = /L given
a £ZC = /M given = AABC = AKLM (AAS = AAS)
AC = MK both equal10
x=35, y=1
a) x=40°%y=110°
b) x=3,y=4,AE=5,AC=10,BE =7, BD =14
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ZC = £C 1dentity

a) ZCDE = ZCAB corresponding angles of parallellines are equal
x=J5 AB=18
ZB = /B identity )
ZACB = ZCDB both equal 90°
AACB ~ ACDB (A4 = AA
_ ( ) + => AACB ~ AADC ~ ACDB
b) /A= /A identity
ZACB = ZADC both equal 90°
AACB ~ AADC (A4 = AA)
X=8
a) x=14
b) x=5,AD=3,AB=4,DB=5
¢ x=3,AD=6,CD=8,CB=10
d) x=3,DC=16, A, =52sq. units
e) x=4.195 A, = 62.9325q. units
a) x=4ﬁ, y =8J§, b - =24x/§sq.units
b) x:#, y:%, AAABC:ZZiﬁisq.units
¢) x=1.813, A,zp = 9.063sq. units
214 ft
18.8 ft
a) P =127, A, pep = 585q. units
b) Pucp =62, A, gy =168sq. units
©)  Puuep =34, A,y = 364/3 sq. units
d) Pupc =36, A, s =365q. units
e) Pusc =10+104/3, A june =50;/§ sq. units
f) Pugc =60, A, 5. =120sq. units
x=6
x=6

a)
b)

=137z, A =42.25x sq. units

C
C=107, A =257 sq. units

} = ACDE ~ ACAB (AA = AA)



